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Note: (i) There are two sections in this question paper. Section-I contains 5

questions and Section-II contains 13 questions. All questions are
compulsory.

(ii) Marks allotted to the questions are mentioned against them.

(i) Read each question carefully and answer to the point.

(iv) Four options are given in answer of each multiple choice question in the
question paper. Write correct option in your answer book.

(v) Very short answer type questions carrying 1 mark to be answered in
about 10 to 20 words.

(vi) Short answer type questions carrying 2 marks to be answered in about
40 to 60 words.

(vii) Long answer type questions carrying 3 marks to be answered in about
100 to 120 words.

(viii)There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of the given

choices in such questions.
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gus - 1
(Section - I)
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(i) <R FHat (i) Praen (iii) DS (iv) Ygra
Which of the following sources of energy is renewable-
(i) Solar Energy (ii) Coal (iii) Wood (iv) Petrol
2. WROT & UBR &- 1
(i) T IRom (i) 3R IROM
Git) (i) g (ii) QY (iv) 379 9 PIg el
The types of motivation are-
(i) External motivation (i) Internal motivation
(iii) Both (i) and (ii) (iv) None of these
3. UP ITH H PM-2 I I FgE 0T 8N Tfed? 1
What two main qualities should be there in an entrepreneur?
4. ICT ¥ 31U q9T A &7 2
What do you understand by ICT?
3Jdi/OR
B DI TEHIET T IGIE[E 3T B AP
How will you do the computer care and maintenance?
5. Hifes TR Fa1 &? Hies TaR & oW 7 JH9H BT qui B 3

What is verbal communication? Describe the advantages and disadvantages of

verbal communication.
3121d1/OR
THTAT AR Bt TRT ST T IevrE BT

Mention the main barriers of effective communication.
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(Section - II)

6. O o1 v fob fore & 22 - 1
(i) SecHATA (i) ¥R @eA
(i) 3T SIS DI 3G PA (iv) ¢ & TgH
A Chassis is used for-
(i) Carrying the bolt (i) Openning the Load
(iii) Fixing the autobody (iv) Folding the nut
7. TED BT ... BH BRA & fore &I & 1
(i) Eor (i) o/l & ede
(i) AT (iv) VR UCH
Lubricator is used for reducing
(i) Friction (ii)  Cooling Parts
(iii) Temperature (iv) Spare Parts
8. @I T 3UPHRUT AU BT JUPBRVT T8l o7 - 1
(i) s (i) el
(iii) @R (iv) HBPHC
Which of the following tool is not a measuring tool?
(i) Steelrule (ii) Calipers
(iii) Pliers (iv) Micrometer
9. o e & & FOTHS wie 5w wfsa A B SR Sl 82 1
(i) f= (i) o8 W3S
(i) oS TEE (iv) Tl oS
The Negative plate of a Lead acid battery is made of which active material -
(i) Tin (i) Lead peroxide
(iii) Lead antimony (iv) Spongy Lead
10. 3m.Ta.9). (I.H.P) &1 ewH faRae| 1
Write down the full form of I.H.P.
11. 9% 1 &°? 1

What is a bore?
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15.

16.

17,

18.

BIEREX BT H&F B ferRae?

Write the main function of Carburetor?

MEETSa BT Far 31 27

What is the meaning of Automobile?

3UER BT FT BT &Il &2

What is the function of Front axle?

I B 3R 3RS BellR # 3R gar=e|

Explain the difference between outside calipers and inside calipers.

31[di/OR
TYS TR d TS SRR A 3= 13|
Explain the difference between tubed tyre and tubless tyre.

aTE B e Tt SRS 22

Why vehicle washin'g is necessary?

e \dT & HE@YUT Uee] adT &7

What are the important aspects of a customer service?

JcHAIETSA | T & ST dTei [9fg IR 3 Fa-aTe a7 &2

What are the different types of innovations used in automobile?
31[d1/OR
YgIet T EisteT g1 H 3= ferRae|

Write the difference between Petrol and Diesel engine.

%k %k %k Xk Xk
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